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LHRS

SPE mean calib SPE mean SPE mean
PMT # (before Consta.nt (calib. (calib.
calib.) Gaus fit) LanGaus fit)

0 111.2 0.702 95.5 99.7

1 173.0 0.597 98.5 99.9

2 79.7 0.884 92.6 100.4

3 139.0 0.730 102.5 100.1

4 135.7 0.743 98.6 99.7

5 123.6 0.811 97.1 100.2

6 135.8 0.736 99.2 99.8

7 139.6 0.733 99.7 100.3

8 132.7 0.778 96.7 99.9

9 149.3 0.690 97.6 100.1

SPE mean calib SPE mean SPE mean
PMT # (before Consta.nt (calib. (calib.
calib.) Gaus fit) LanGaus fit)

0 71.6 1.455 96.9 99.8

1 66.1 1.556 96.3 100.1

2 75.4 1.330 95.4 100.4

3 65.0 1.616 96.8 100.3

4 65.9 1.552 99.5 99.7

5 64.8 1.562 100.0 100.0

6 71.0 1.418 102.5 99.7

7 67.7 1.547 99.8 99.7

8 70.2 1.504 96.7 100.4

9 72.8 1.408 99.5 100.2



